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QUESTION 1

Refer to the exhibit.

Root for instance 1
Default router for all VLANs Root for instance 2

MSTP instance 1
V0LAN 1011

MSTP Instance 2
viAaM 12,13

"

Endpoints in ] Endpoints in
VLAN 10and 12 VLAN 11 and 13
- e e ESEs aen e,

The network administrator is setting up Multiple Spanning Tree Protocol (MSTP) with the settings shown in the exhibit.
All the switches are in the same region. The administrator has requested help determining which VLANs each switch-
toswitch link should carry. What is a recommendation for this topology?

A. To prevent disruptions during link failure, Links 1-4 should carry VLANs 10-13.

B. To optimize forwarding, Links 1 and 2 should only carry VLANs 10 and 12, and Links 3 and 4 should only carry
VLANSs 11 and 13.

C. To ensure compatibility with MSTP, Links 1-4 should be untagged in VLAN 1 and have no tagged VLAN
assignments.

D. To optimize forwarding, Links 1 and 3 should only carry VLANs 10 and 11, and Links 2 and 4 should only carry
VLANSs 12 and 13.

Correct Answer: D

QUESTION 2

What is one difference between the 802.11g and 802.11n standards?
A. 802.11g can operate on the 5Ghz band.

B. 802.11n can operate on the 2.4Ghz band.

C. 802.11n supports multiple spatial streams with MIMO.

D. 802.11g supports channel bonding of multiple channels.

Correct Answer: C
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QUESTION 3

Which term refers to aggregated links on HP ProVision switches?
A. smart linking

B. meshing

C. EtherChannels

D. trunking

Correct Answer: D

QUESTION 4

Refer to the exhibit.

VLAN103

Comware-3 switch @ Comware-4 switch
VLAN 101 4
-—/-,
interface gigabitethernet1/0/1 -~ interface gigabitethernet1/0/2
in
l-...___-‘ /
Comware-1 switch @ Comware-2 switch
VLAN 100 /

/
v ProVision-1 switch

MSTP is configured on all switches shown in the exhibit. The Comware-1, Comware-3, and Comware-4 switches are set
up for OSPF. Comware-1 and Comware-4 switches fail to achieve neighbor adjacency. The network administrator
analyzes the issue and determines that MSTP is blocking on port gigabitethernet1/0/2 on Comware-1.

Which configuration should the administrator configure on ports g1/0/1 and g1/0/2 to allow Comware-1 to form the
correct OSPF adjacencies with Comware-3 and Comware-4?

A. interface g1/0/1spanning-tree bpdu-filterquitinterface g1/0/2spanning-tree bpdu-filterquit
B. interface g1/0/1undo stp enablequitinterface g1/0/2undo stp enablequit

C. interface g1/0/1stp link-mode routequitinterface g1/0/2stp link-mode routequit
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D. interface g1/0/1stp bpdu-filterquitinterface g1/0/2stp bpdu-filterquit

Correct Answer: A

QUESTION 5
A network administrator enters this command on an HP Comware switch:
save

In interactive mode, the administrator is prompted to save to a file named config.cfg and confirms the save. What is the
effect of these actions?

A. The current configuration is saved to config.cfg on a TFTP server but is not used for the startup-config.
B. The startup-config, rather than the correct configuration, is saved to config.cfg on a TFTP server.

C. The current configuration is saved to config.cfg in the flash but is not used for the startup-config.

D. The current configuration is saved to config.cfg in the flash and is used for the startup- config.

Correct Answer: D
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